
www.filex.nl

Manual

Desk Clamp

Thru Desk

A

B1

B2

B3

A

B2

 ≤40mm

Hole: Ø8.5-60mm

S

6-45mm

R

F

M

N



www.filex.nl

Manual

6

3

·Mid installation is ready, no adjustment

2

5

1 Press the button

C

r

l

4

G

·Right installation, rise "r" up

·Left installation, rise "l" up

K

l

r Adjust the turning strength

D

O

O

J H

P



www.filex.nl

Manual

No. ITEM SPECS

450mm*1

No. ITEM SPECS

Parts List

1

1

1

2

8

M4*10mm*8

M4*18mm*8

A

B

C

D

E

F

I

J

K

L

M

N

O

P

Q

M3*1

M4*1

M5*1

M6*1

M2*1

R1

1

M8*100mm*1

H

G

1

1

M4*16mm*4

S


